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Section 2 Activities

Int B Sometimes in your writing, you will want to signal a pause. The pause
may be in the middle of a sentence or at the end of it. You can use commas, dashes, or ellipses to
cue different types of pauses.

Punctuation |  WhentoUse -~ | .0 . Examples e e
) Professnonal sports, such as foothall and basketball
Commas to set off nonessential can be more fun to watch live than on TV.
information

Yesterday's game was thrilling, especially at the end.

Some people think baseball is boring—nine innings

toindicate a change in thought | o¢ players standing around.
Dashes or an abrupt break, or to
emphasize set-off text

The batter swung and—with the crack of his bat—
knocked the ball out of the park.

to indicate an unfinished action | With two seconds left on the clock, the player dribbled
or the process of thinking down the court .. . slam dunk!

Ellipses

vy Guide Flatl-08) Add the type of punctuation shown in parentheses to correctly signal
the pause in each sentence. Use a caret (~) to add dashes and ellipses.

Hint @1 Did you see the game between the Hornets and the
When you use commas Grizzlies the one that went into overtime? {(comma)
or dashes to signal a £3 Suddenly the referee blew his whistle stopping the game for
pause in the middle of a penalty. (E“IpSlS)
a sentence, be sure to
use the same &3 A professional athlete runs the risk of serious injury a
punctuation before disaster that could even end a career. (dash)
and after the pause.

i.3 Our softball team has a game next Thursday not Friday.
Example: (comma)

Camella—that girl over
there—plays hockey. (=) Curtis a newcomer to our team usually scores the most runs.

NOT (dashes)

Camella, that girl over 5 At 6:00 am. a time when most people are asleep Curtis and
there—plays hockey. his brother are out practicing. (commas)

2 My mom says | can go to the game if | accomplish one
thing an A on my algebra test. (dash)

il Stepping up to the plate he keenly focused his eyes on the
pitcher. (ellipsis)

H .
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$i-Ready

- For numbers 1-5, choose the best way to punctuate the pause
in each sentence.

The bali slowly rolled around the
rim and finally, dropped through
the hoop.

The ball slowly rolied, around the
rim, and finally dropped through
the hoop.

The ball slowly rolled . . . around
the rim and finally dropped
through the hoop.

The ball slowly rolled around the
rim . . . and finally dropped through
the hoop.

That tennis ball is flying toward
you—watch out!

That tennis ball is—flying toward
you watch out!

That tennis ball is flying toward
you, watch out!

That tennis bal! is—flying toward
you—watch out!

The score after six innings—if she
remembered correctly was 4 to 1.

The score after six innings if she
remembered correctly, was 4 to 1.

The score after six innings . . . if she
remembered correctly was 4 to 1.

The score after six innings, if she
remembered correctly, was 4to 1.

© 2020 Curricudum Associates, LLC, All rights reserved.

 Answer Form

o ® 0 -
R RCNONC) @ umber
:_5®®_©® orrect - A

Let's get something to eat, maybe
popcorn or nachos—at halftime.

Let's get something to eat~—maybe
popcorn or nachos—at halftime.

Let's get something to eat maybe
popcorn or nachos, at halftime.

Let's get something to eat—maybe
popcorn or nachos, at halftime.

Competing in the Olympics, what
an amazing experience, that
would be.

Competing in the Olympics.. ..
what an amazing experience, that
would be.

Competing in the Olympics. . .
what an amazing experience that
would be.

Competing in the Olympics—what
an amazing experience—that
would be.
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« Arootis a word part that contains the main meaning of the word. in the word secede, the
root cede means “move” or “go.” Secede means “to move apart, or to separate.”

. Root | " Meaning 4 Root. |- ~‘Meaning
cede, ceed “go, move” pon, pos ”put pface

cur “run” ven, vent “come”

mit, miss “send” ject “throw"

» An affix is a word part added to a root. Prefixes are affixes that come before the root,
and suffixes are affixes that come after it.

Cooprefik.t b Meaning b Usuffix. |0 Meaning:
inter- “between -fon ct or process of”
pro- “forward; in favor of” -or “state, quality, or action”
# " “someone who does an action;
pre- before -ent o . M
occurring in a certain way

« You can use the meanings of roots and affixes to figure out the meaning of many
English words.

2 , Read the passage. Circle the root in each underlined word.
On a separate plece  of papeyr, write the meanings of the word parts and define the word.

Our car was proceeding along the highway when we heard

Hint

The meaning of the the forecast. The weather had been mixed all day, and now we
root does not usually

fit exactly with the knew that the intermittent rains were the precursor to a big storm.
definition of the word. The station re d it amming, but soon the uncer
Think of affixes and e station resumed its programming, but soon the anno

roots as clues that you interjected another warnin ivi

- ¢ j g. My brother, who was driving, was a
can use along with the y

context to figure out proponent of going home, but my sister Lexy wanted to continue.
the meaning of an

unknown word. We needed an intervention, so | used my cell phone to call

my mom,
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For numbers 1-4, read each sentence. Then answer Answer Form )

- the question. 1000 ® 
20 ®0 0
My mom told us that the trajectory of 30000 Number /
the storm had changed and the river 40 0@ 0 O Correct

might overfiow.

The prefix tra- means "across,” the root

ject means “throw,” and the suffix -ory We subsequently turned the car around

means “a place where.” What is the " and returned home.
meaning of trajectory as used in the
senten cg., rajectory The prefix sub- means “under or after,”
) and the root sequ means “foliow.” What -
A the time when something is the meaning of subsequently as used
important begins in the sentence?
B the type A slowly but surely

C the path something takes as it
moves over

immediately after

B
C completely
D the size and shape D

eventually

Lexy could be tenacious, but my
mother’s news put an end to ail
discussion.

After the huge storm, everyone
wondered how long it would take
the floodwaters to recede.

The root ten means "hold,” and the
suffix -ious means “characterized by.
What is the meaning of tenacious as
used in the sentence?

u The prefix re- means "back,” and
the root cede means “go.” What is
the meaning of recede as used in the

sentence?
A stubbc.Jrn A flow over
B talkative B rise higher
C cranky C remain stable
D bossy D withdraw from

* .
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introductlon Words can have two kinds of meanings that convey very different ideas
or images. A word’s denotation is its basic meaning, or dictionary definition. A word’s
connotation is the feeling or impression that people associate with the word.

» Aword can have a positive, negative, or neutral connotation. When you write, think
about the connotations of the words you choose and the effect they will have on
your readers.

" Positive Connotation. |

“Neutral Connoration | _

Negative Connotation

Several people lingered in
the theater after auditions.

Several people stayed in

the theater after auditions.

Several people loitered in
the theater after auditions.

My aunt picked me up in

her compact two-door car.

My aunt picked me up in
her small two-door car.

My aunt picked me upin
her cramped two-door car.

» To say that a car is small is a neutral statement about the car. A car that is compact,
however, can fit everything you need into just a small space, This word has a positive
connotation. A cramped car, on the other hand, conjures images of tightly squeezed
passengers and belongings. The connotation is negative.

. | || Read each sentence, Each underlined word has a neutral or a positive
connotation. Write a word that has a negative connotation to replace each underlined word.

Hint

Words that have the
same, or a similar,
denotation are
synonyms. You can use

It was adventurous of me to try out for the role of viltain.

22 I'm quiet and shy, and the character is powerful.

&3 My best friend was surprised that | was so firm in my decision.

a thesaurus to find the

synonyms for each

underlined word. Then @8 | nervously held the script as | read my first lines.
choose and write the

synonym that has a &3 My right leg shook as | faced the hero.

negative connotation. 5} When offered the part, | deliberated for a while,

iz But then | decided that | had spent too much time being shy.

Sometimes, | wonder what kind of silliness I'll try next.
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$i-Ready

- For numbers 1-3, which word has the same
- denotation as the underlined word but has a
_ more negative connotation?

The director was unpredictable in his
reactions to the actors and scenes.

A changeable
B volatile
C whimsical
D

variable

The actors felt that the director’s
comments were sometimes clever.

A perceptive

B insightful
C keen
D shrewd

The director’s feedback excited the
actors.

A agitated
B inspired
C invigorated
D

energized

©® 2020 Curriculum Associates, LLC, All rights reserved.
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For numbers 4 and 5, which word has the same
denotation as the underlined word but has a
more positive connotation?

The director's great arrogance made it
difficuit for him to compromise in his
way of doing things.

A conceit
B smugness
C confidence

b haughtiness

At the end of the rehearsals, the actors
admitted that this director brought out
the best in them.

A declared

B confessed

C gossiped
D vented
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What's the difference between saying “He doesn't eat very much” and saying “He eats like a
bird"? The two phrases mean the same thing, but the first sentence is literal, and the second is
figurative. Literal meaning refers to the dictionary definition of a word or phrase. Words or

your understanding of an author’s message.

phrases with a figurative meaning express ideas in unusual or creative ways.

Words may also have positive, neutral, or negative connotations, which are the feelings or
ideas associated with a word. And, some words have technical meanings specific to a certain
subject area. When you read, be aware of these different types of meaning. it will improve

Read the magazine article below. Circle an example of figurative language, underline words
with strong connotations, and put a box around any technical words or phrases.

Bald eagles [§

Bald eagles are majestic creatures.
They sail and dive through the air
like trained acrobats. They also
have wingspans of up to 90 inches.
That's more than seven feet long!

Read the chart to analyze some of the words you may have marked in the article.

. Typeoflanguage | .~ Example |~ ' EffectonMeaning

. ot gt Majestic encourages readers to thmk that the
Connotative majestic birds are more than ordinarily beautiful.
Technical “wingspan” Wingspan is a specific term used to explain one

of the eagle’s characteristics.

“They sail and dive
Figurative through the air like
trained acrobats.”

The simile They sail and dive through the air like
trained acrobats compares an eagle's
movement o an acrobat’s.

Authors choose words and phrases carefully to convey meahing and feeling. Determining
word meanings can help you understand how an author's specific word choice affects the text.

ﬁ I'ReQdy © 2020 Curriculum Associates, LLC. All rights reserved.

Grade 8 Packet 1, Section 2

40



Read the beginning of the scientific account about mollusks.

" Genre: Scientific Account

The Mollusk Famlly By Deshawn Miller

Did you ever imagine that a tiny snail and a giant octopus might be part of the same family
 tree? Most people don't realize that snails, mussels, squid, and even octopods belong to the same
category of creatures known as mollusks. These amazing creatures are invertebrates, which
means they do not have spines. '

Mollusks share three basic body parts: a foot, a body, and a mantle. The foot is a fleshy part of
the mollusk’s body, made up mostly of muscle tissue. In a snail, the foot is the part of the mollusk
that meets the ground and gently rolls the body forward. From this slow, measured motion comes -
the phrase “a snail's pace.” A mollusk’s soft body is like a fragile bag that holds the heart, the guts, |
and various internal organs. The mantle, which is often a shell or a tough, sturdy covering,
functions like a suit of armor to protect the body.

(continued)

 Explore how to answer this question: “How do the word choices in the scientific account help you
understand the author’s intended meaning?”

Reread the account. Circle an example of figurative language, underline words with strong
connotations, and put a box around any technical words or phrases.

In the account, find an example of each type of language named in the first column. Add it to the
chart. Then, in the last column, explain the effect the word or phrase has on meaning.

Type of Language Example Effect on Meaning

Figurative

Connotative

Technical

With a partner, discuss your completed charts. Then identify one more example for each type
of language,
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Close Reading

Circle two phrases in the

first paragraph that help

you understand the =
technical term defense

mechanisms.

Hint

" Think about the
connotations, or - :
feelings, that the words
suggest. How do those .
feelings differ?

Continue reading the account. Use the Close Reading and the Hint to
help you answer the question.

(continued from page 96)

Because many mollusks creep along slowly, they need defense
mechanisms. Mollusks with shells simply retreat into their body
armor to protect themselves from predators. But the Blue-Ringed
Octopus, a mollusk found in the South Pacific, defends itself witha ¢
bite so fierce it is almost always fatal to humans. b

Overall, moltusks are peaceful inhabitants of our planet.
Whether they live on land or in the sea, they are not aggressive.
Our taste for cooked mussels, clams, and oysters, in fact, makes us
far more dangerous to mollusks than they are to us.

Circle the correct answer.

Which statement best explains why the author has used the words retreat,
fierce, and fatal in the first paragraph above? :

A

B
C
D

to warn readers that mollusks are often aggressive and dangerous
to emphasize the contrast between different mollusk defenses

to explain the mystery behind a mollusks’ defense system

to call attention to the unusual shells grown by the mollusk famity

Look at the answer you chose above. Explain how the connotations of the words helped you to
understand the ideas about mollusk defense mechanisms that the author wants to convey.

With a partner, discuss how the use of figurative, connotative, and technical language in the account

gives you a clearer picture of the characteristics of the mollusk family.
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As 1 read, I'm going to
look for any connotative,
figurative, or technical
language the author uses
to describe the attributes

of armadillos.

Close Reading

‘-=Underline examples of

| figurative languagein

| the firstand fourth ~
paragraphs. - '

. Circle words with strong
; cdhnjota_ti«:ns us_gd-to
. describe the armadillo.

$i-Ready

@ 2020 Curticulum Assoclates, LLC. All rights reserved.

Genre: Scientific Account

Armadillo Attributes By Karen Olson

The word armadillo comes from a Spanish word meaning “little

armored one.” The armadillo earned its name from the bony
carapace that shields the armadillo’s body like hinged plates of
armor. This protective covering has helped this homely mammal
survive for about 55 million years.

Armadillos are related to sloths and anteaters. They may also
be descendants of ancient dinosaurs. Some scientists believe
modern armadillos are related to an extinct mammal called the -
glyptodont (GLIP-toh-dont). Like armadillos, glyptodonts
originated in South America.

Today, more than 20 species of armadillos live in Central and
South America. The nine-banded armadillo is the only species in
the United States. It is now found in Texas, Oklahoma, Arkansas,
Missouri, Louisiana, and parts of Florida.

Armadillos have many strange yet fascinating traits. In order
to swim, they can swallow air to inflate their stomachs,
becoming as buoyant as a balloon floating on the water. When
threatened, armadillos may react defensively by jumping three to
four feet into the air. Some are able to curl up into tight balls.

Armadillos have terrible eyesight, so they use their foolproof
sense of smell to find food. They probe grasses, decaying logs, or
sandy soil with their pointy snouts. Once they locate beetles,
ants, or other insects they like to eat, they eagerly dig them out
with sharp claws and trap them with narrow, sticky tongues.

Armadillos are the only mammals with protective shells. You
might assume that these shells and other traits make armadillos
immune from danger; however, predators such as dogs, wolves,
and coyotes hunt these peaceful animals. Sadly, speeding cars
and trucks can also injure or kill them. Despite these ever-
present threats, armadillos continue to survive in a variety of
habitats and climates.

Grade 8« Packet 1, Section 2
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Hi_nts

Find this word in-

‘paragraph 6.

5_‘_L_;ock for Céritex_t clues i'n -
.+ paragraph 6 that might
- help you understand the

" “meaning of “immune.”

_i_o_okj back at t.h.e": H

| descriptivewords you =
- circled. Which words have -
. apositive connotation?
~ Which words have a

' _negative connotation?

Use the Hints on this page to help you answer the questions.

£ What does the word “immune” mean as it is used in the passage?
A defensive
B unaffected
C threatened
D unawére
B3 Which of the phrases from the passage best helps the reader
understand the meaning of “immune”?
A “may react defensively”
B “these peaceful animals”
C “canalso injure or kill them”
D “ina variety of habitats and climates”
§3 Explain why the author uses words like homely, strange, fascinating,
terrible, foolproof, and peaceful to describe armadillos. Write a

paragraph about what these word choices reveal about how the
author would like readers to feel about armaditlos. Use at least three

specific details from the text in your response.

ﬁ I‘Reddy © 2020 Curriculum Associates, LLC. All rights reserved. Grade 8+ Packet 1, Section 2
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. Read the scientific account. Then answer the questions that follow.

Animal Regeneration

by Aleya Brown

1 Regeneration is the ability of an organism to regrow a lost body part. All creatures have the power to

' regenerate lost body parts to some degree. If a human scrapes a knee or breaks a bone, for example, tissue is

. regenerated to heal the wound. Even a lost fingernail will regenerate over time. If the finger is severed,

- however, the limits of regeneration have been reached; humans cannot regrow limbs or organs. In contrast, if
. an earthworm is cut in half, the end of the worm with a head can grow a new tail. If the end of the worm with
. the tail survives, it too may grow a new tail. Unfortunately, it starves to death eventually because it cannot |
feed itself without a head or mouth.

2 Which creatures have strong regenerative powers? Lower animals, such as worms, lizards, spiders,
and starfish, have some of the greatest regenerative powers. Crayfish, for example, have a remarkable safety
- device at the base of each claw and leg called a “breaking joint.” When a predator grabs a limb or claw, the
* appendage breaks away so the crayfish can escape, Over time, as the crayfish molts, or sheds its soft shell, the
broken limb or pincer grows larger and larger until it has been completely regenerated.

3 Some animals are able to survive in large part because of their regenerative powers. A type of
flatworm called planaria lives under rocks in clear creeks and streams. The flatworm has no real defense
- mechanisms to protect it from predators, but it can be cut into as many as 32 pieces, and each piece may form
. a new worm, complete with a head, eyes, and internal organs. In the case of the planaria, an event that could
| be fatal is turned into an awesome act of procreation,

4 Many more animals display noteworthy regenerative powers, Sharks replace lost teeth throughout
 their lifetimes. A single shark may grow as many as 24,000 teeth in its lifetime, ensuring a long career at the
. top of the food chain. Much like planaria, sea cacumbers, which have bodies that grow up to three feet long,
- can be cut into pieces and survive. Each piece may grow into a new sea cucamber. Spiders, like crayfish, can .
- regrow legs. Many lizards also have “breakaway” tails that snap off when caught by predators. They then grow :
. new ones, which lack the original spine. Starfish can lose arms and grow new ones. Sometimes an entirely new -
- starfish can grow from a single lost arm. |

5 Interestingly enough, the scales of a fish tell stories about regeneration. Much like the rings inside a

. tree trunk, fish scales reveal details about an organism’s past. Each scale lies in a pocket of skin and grows

. along with the fish. Scientists read the markings on a scale to determine the age of the fish, seasons of famine
or drought, and other important information. It is often necessary to look at many scales to get a complete

. story, however, because scales are often lost and regenerated. These new scales lack the markings that happen
. over time. They are like a blank page in the history of the fish.
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.6 Scientists are extremely interested in regeneration because of the possible implications for healing
. humans. Some scientists think it is possible that higher animals retain the ability to regenerate body parts, but -
' that the reaction triggering the body to regenerate has been lost. By studying lower animals, such as worms,
spiders, and sponges, scientists hope to discover what triggers regeneration, The dream is that this knowledge
could one day be used to help humans regrow internal organs and limbs. Currently, human regeneration may |
sound like something out of a science-fiction movie. The implications of such a discovery, however, would be
so far-reaching that they are hard to fathom. For now, the miracle of regeneration is intriguing enough to keep
scientists working for years to come. '

'AhsWef rF_p'_rrh ]

.~ Answer the questions. Mark your answers to 16000
- questions 1-5 on the Answer Form to the right. 200

© O
: ® 00 o
4P B®OO Number -
® ® ©® @ Correct A

What is the meaning of “procreation” as it is used in paragraph 3 of the passage?

A survival

B repetition
C cooperation
D

reproduction

Read this sentence from the passage.

Crayfish, for example, have a remarkable safety device at the base of each claw and leg
called a “breaking joint.”

Which of the following best matches the author’s connotative meaning of the word
"remarkable” as it is used in the sentence?

A unusual

B significant

C extraordinary
D

noticeable

ﬁ |'Reqdy © 2020 Curriculum Associates, LLC, All rights reserved. Grade 8 Packet 1, Section2 48



As used in paragraphs 2, 3, and 4 of the passage, the word powers is closest in meaning to

A influence
B authority
C forcefulness
D

abilities

Which of the phrases from the passage best helps the reader understand the meaning of the
word “appendage”?

A "have a remarkable safety device”

B “grabs alimb or claw”
C  “sheds its soft shell”
D

“grows larger and larger”

Read this sentence from the passage.

The dream is that this knowledge could one day be used to help humans regrow internal
organs and limbs.

Which word best matches the meaning of “dream” as it is used in this sentence?

A hope

B fantasy
C plan

D iltusion

E! ‘ E :g!l Go back and see what you can check off on the Self Check on page 94,
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Name Bugs

= computer paper

« aSharpie

» something to decorate with; can be dollar store watercolor paint, crayons,
markers, or any combination of them

You are going fo write your name on a folded piece of paper. Cursive makes beautiful name
creatures. Printing makes cool name aliens and robots. Either is fun!

Step Oe:

Fold a piece of paper lengthwise, keeping the folded part in toward your body. | tell kids to turn it so

| you can guack like a duck.
It's a great idea to have a piece of scratch paper underneath your folded paper.

Step Two:
Choose whether to write the name in cursive, or to print it neatly. You are going to do this part with a

Sharpie. Whether you print or write cursive, the most important thing to do it to bring the letters ail
the wa dq;i\@ to the fold of the paper, especially on the first and last letter.

e Sl

R = el
Note how close we write the letter to the fold:




Step Three
This is the trickiest step; after this it is all easy. Flip over the folded paper and hoid it up to a window;
with that little bit of light shining through, you can see the image of the word. Using the Sharpie,

. It will look strange!

trace over the entire name

Step Four
Now the fun begins! Open up the paper and see what you have! Look for its personality. Isita

monster? An alien? A strange insecit? Turn it 180 degrees if you don’t see something and look at it
from that perspective. If something doesn't jump right out at you, look for what might be eyeballs—
once you settle on the eyeballs, the rest comes.

Once you get the eyes placed, features start to become evident. Add hands, antennae, hair, ears,
nostrils, a mouth, shoes... just whatever your little creature needs to bring it alive. Let your
imagination run wild!



Step Five:

You will be amazed at how much the color will bring the personalities out of these little creations.
Crayons or markers work great; or if you love to paint, nothing beats a strip of dollar store
watercolors. If you don’t know what something is on your creature, just start coloring the different
sections and the ideas will start flowing. You can always add more details, too.

Put on the finishing touches and enjoy your Name Bugs! Can you recognize the name? If you want
to fold the finished bug and lock at it again, you can still recognize the root word in it, but when you
open it up the magic happens.

It's also fun to create bugs out of other names; some of my favorites have been from positive words
to celebrate, such as JOY, HOPE, and SMILE. And of course, celebrating your own name gives you
a signature critter; you can scan it in, reduce it down, and use it as an avatar or strange signature.




Name:

Directions: Complete the table with information about different methods of generating electricity.

Energy Resources

Date:

Energy Resource

Descriphion e b i mues

Atlvantages

Disadvantages

Solar

Wi

Tidal

o storyboerdihsigen

BT StoryboardThat



Entergy Resource Description wousnon nws Advantages Disadvantages

Wave

z

Geothermal

Nuglear

Hydroefectric

Biomass

0

¥

Bl StoryboardThat
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Fossil Fuels

Coal is burned to heat water. The
water turns to steam and makes a
turbine spin. The turbine is
connected to a generator that
produces a current.

e Safe and reliable * Involves burning, which releases
greenhouse gases into the atmosphere
e Cheap
» Nonrenewable energy resource

———— StoryboardThait



Solar

Photovoltaic cells absorb light
energy from the Sun and convert it
into electrical energy.

« Easy to install « Can be expensive to set up

* No fuel cost | « Effectiveness depends on how much
sunlight an area receives

*No CO2 or other atmospheric pollutants.

E:8 StoryboardThat
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Tides

Tides are the movement of water
caused by the gravitational pull of
the moon. Barrages are built across
the mouth of rivers, estuaries, and in
bays. These barrages contain

turbines that spin when the water E
moves. The turbines drive generators |
that produce an electric current.

* No greenhouse gases or other atmosphere « Expensive setup costs
pollution
« Barrages can harm habitats
* No fuel cost
« Barrages can block access to waterways

Hi®f StoryboardThat
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Nuclear

Nuclear reactions release energy

as heat. This heat is used to heat

water and turn it into steam. This
steam then drives a turbine,
which turns a generator and
produces an electric current.

* Generally safe » Waste remains radioactive and dangerous
. for thousands of years
» No pollution or green house gases are
emitted as nothing Is burned « Can be dangerous if struck by a natural
disaster

* A small amount fuel can produce a large
amount of electrical energy

sorwstsryotrdthatom
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Geothermal

Water is heated by hot rocks
under the ground and turned
into steam. This steam is then
passed through tubes to a
turbine which spins as the steam
passes over it. The spinning
turbine drives a generator and
produces an electric current.

» Can only be used in certain parts of the world

e Reliable
« No pollution or green house gases are < Could potentially release underground
emitted as nothing is burned greenhouse gases

* No fuel costs « High setup costs
BLZE StoryboardThat
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Wave

Waves are caused by wind and occur
on the surface of the ocean. Wave
energy can be harnessed to generate
electricity. There are
many different ways of doing this.

« No greenhouse gases or other atmosphere
pollution

* No fuel cost

wwwstonborrdiaLeom

* Not suitable everywhere
e Could have an effect on marine life

¢ Could destroy the natural beauty of
coastal areas

I StoryboardThat



Wind

Wind hits the turbine blades and
makes them spin. This movement
turns the generator that
produces an electrical current.

*» No greenhouse gases or other atmosphere
pollution

e No fuel cost

wiemstorybardthatzon

« Interfere with natural beauty

« Setup costs can be high, particularly for
multiple turbines

« Effectiveness depends on the amount of
wind & StoryboardThat



Hydroelectricity

Water is kept behind a dam in a high

place. This water has gravitational
potential energy and is converted

into kinetic energy as the water falls

This moving water makes a turbine

spin. The turbine is connected to a

generator that produces an electric
current.

 No poliution or greenhouse gases are
emitted as nothing is burned

» Will never run out (unless there are
droughts)

W sorybonrdthatcon

e Very expensive to build

s Large areas of land could be flooded for
the reservoirs

 Dams can stop migrating fish
BT StoryboardThat



Biomass

Biomass is material that comes from
living things, like pfants and animals.
It is burned and used to heat water.
This water turns into steam and is
used to make a turbine spin. This
turbine is connected to a generator
that generates electricity.

» Renewable energy resource » Land used for crops may have to be used
for growing energy crops

* Reliable .
* Requires large amounts of water

« Carbon dioxide released by burning can be
absorbed by regrowing the plants
25 StoryboardThat
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Name: Date:

Renewable or Nonrenewable?

Define:

Renewable

Nonrenewable

Sort the following energy resources into the table below.

Biomass Hydroelectric Fossil Fuels
Solar Geothermal Wave
Wind Nuclear Tidal
Renewable Nonrenewable

www.storyhoardthat.com u StoryboardThat



Name: Date:

Energy Resource

Directions: Research an energy resource. Draw a picture in the box to represent it and answer the
guestions below.

Is it renewalle or nonrenewable?

How does it work?

What are the advantages? What are the disadvantages?

Where could this energy resousce be used?

www.storyboardthat.com E Sto ry hoardThat



Name Date

Energy Resource Island

Directions: Label the diagram below. Show where different energy resources could be placed around the
island and explain your reasons why.

Explain your reasons behind the locations chosen on the island

www.storyhoardthat.com H Storyboard”i’hat



Renewable Energy Island

Wind Turbines

Would work well in a valley where
the mountains channel the wind

| Biomass Power Station

Placing the power station close to |—————

the forest would reduce transport |
¢osts for biofuel. .

wwnw.storyhoardthat.com

Hydroelectric Power

Station
Would work well near the lake
high up the the mountains as the
water there has a lot of
gravitational potential energy

Geothermal Power

Station

Best put In the hot springs area
near volcanic activity

e

-

Wave Power Generator
Place in a location that gets
strong waves; would be best in an
unsheltered part of the ocean but |-
still close to the shore to reduce
transmission costs

7

dkf StoryboardThat
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Add a small circle in the
center. This will be the iris.

TIP:
try and
find a
circle you
can tracel

@ Add the last smaller cmcle Shade the pupil black. Draw
in the center of the iris. spokes around the pupil.

Start with a circle,

This
is
the
pupil

Darken edges of iris. . Shade entire iris. Add more
Add more “spokes”. spokes as needed.

Erase some
Smudge/shade areas on iris
the outer ‘

to indicate A

eyeball rim “shine”
to darken it |
_ ‘ Add a few
k*? thin lines
for veins

43"




"y Lightly draw
sides of nose

rd

‘ Add 2 small

' Shade one side
shapes Yo sides darker

Start with @
" shape

4 b
?1 H

nose i3
always
thinner
ot top
and wider
of base

_ Lightly draw @ Shade one side
gides of nose darker

Add a
“parenthesis’

Start with a

wide "U" and
curve the ends shape Yo sides -i ;
' sides of
% l/ nose are
( ) ; not lines,
i they are
/ shaded

" TiP5:
[AY
P\(\O*\(\ Pick a side to
5 be in the
shadows

T~
ather side
is lighter

. grase some

i
highlights

RATTPRTRTAR

spots for



Kuta Software - Infinite Algebra 2
Solving Multi-Step Equations
Solve each equation.

1) dn-2n=4

3) 3=x+3~5x

5 —12=3-2k—3k

7 6=-3(x+2)

9) 24 =6(—x—3)

Name

Date

2) =12=24+5v+2

4) x+3-3=-6

6) =1 ==3r+2r

8) —3(4r—8)=-36

10) 75 =23(-6n-5)

Pericd



Kuta Software - Infinite Algebra 2
Solving Multi-Step Equations
Solve each equation.
1) 4n—2n=4

{2}

3) 3=x+3-5x
{0}

5) 12 =32k~ 3k
{3}

7) 6=-3(x+2)
{~4}

9) 24 =6(-x~-3)
-7}

Name

Date

2) -12=24+5v+2
{2}

4) x+3-3=—6
{-6}

6) -1=-3r+2r
{1}

8) —3(4r—8)=-36
{5}

10) 75 =3(-6n-15)
{-5}

Period_____



Exponent Rules Review Worksheet
NOTE: Anything to the zero power equals 1!

Product Rule: When multiplying monomials that have the same base, add the exponents.
xﬁl . xﬂ — xm+n
Example 1: x-x°-x*=x""*=x* Example 2: (2x2y)(—3x3y4) =2-(-3)-%"-x* .y y' =—6x"y’

Power Rule: When raising monomials to powers, multiply the exponents.

R i
(xm) :xmn

Example 3: (Xy°)* = x***y*** = xy" Example 4: 2x°yZ) = 223 y* 727 = 8xy’Z°

Quotient Rule: When dividing monomials that have the same base, subtract the exponents.

3 58 36em’n’

Example 5: -—3—6-3 =x"P=x  Example 6: o= 55%=5%  Example 7: 36 m 1
x

= — =—dm'n
Omn® 9 m »

Simplify each of the following. Copy the problem. Work on your own paper.

1) a-d*-ad 2) (2a%b)(dab®)  3) (6x)(-3%) 4) bbb 5) (3x3)(3x4)(;'3x2j
6) x5’y 7) 5y 8) (6x'y" 9) (4x'y) 10) (7xy)”
x 18¢° 9a’h’ —48¢°d* 22y628
1) = 12) =5 1B) 1) — 15) e
16) x*- %7 17) (s*) 18) (-2x*) 19) 2% +7%° 20) 7°
21) 8x° 22) -3 23) (-3)* 24) 6x°ys—(2y2)4 25) (x+2y)(x-2y)

26) 27)

28) 6x°-3x° - x°

29) (3s12)

5
327
30)['”"}
m



Kuta Software - Infinite Geometry Name

All Transformations Date Period

Graph the image of the figure using the transformation given.

1) rotation 90° counterclockwise about the 2) translation: 4 units right and 1 unit down
origin
& AY
Ay i T
Yo I I
, ¥ ) BN
2 > D x
< > i
. \\ . |
AL LN
555 _ N (U B i N IR P
K’ -
Y
3) translation: 1 unit right and I unit up 4) reflection across the x-axis
i Ay _ Ay
_ 1. C J
T 1/ \ E
-1 ~—
J >pM -~ \\
\ A 7/ SR 0 0 N MU R \a; B
K
L . 1
Write a rule to describe each transformation.
5 6
) Ay _ ) Ay
D Y
I E.
7/
X
< ":_c < P 1 I }?;;
_ c lc
TR
B W 7




) 8)

-]

Rt X
LA
il . DI Ve N
T E [ —— x Gl y x
NG - pd
R =T
e F' | BI N
Y i Y
Graph the image of the figure using the transformation given.
9) rotation 90° clockwise about the origin 10) reflection across y=x
B(-2,0), (-4, 3), (-3, 4), X(-1,4) K(-5,-2), A4, 1), 10, 1), J(-2, 4)
. 2/ — Nt
o ) V i} ) - - Yy -
Find the coordinates of the vertices of each figure after the given transformation.
11) rotation 180° about the origin 12) reflection across y=2
E(2,-2), /(1,2), R(3, 3), 5(5,2) J(1, 3), U0, 5), R(1, 5), C(3,2)
13) translation: 7 units right and 1 unit down 14) translation: 6 units right and 3 units down

J(=3,1), F(-2, 3), M(=2, 0) s(-3, 3), C(-1, 4), W(-2, -1)



@
Sustainability @

Garbology ’

Garbology is not a real word. It means literally the study of trash or garbage. All trash or
garbage is classified into either “luxury” or “essential”. In this activity, you will define each
and tell the difference between the two. '

Step 1: Make a list

Think about the stuff you throw away. Make a list of items that you have thrown away over the past two days.
List them below. Make sure you list between 10 and 20 items. If you must go back further than two days, please
do so. : .

1. 2. 3. 4, ' 3.

6. 7. 8. 9. ' 10,
11, 12. 13. 14. 15.
16. 17. 18, 19. 20.

Step 2: Are they similar?
List 3-5 things that all the items on your list have in common.

Eali i & e

5.
Step 3: Luxury or Essential?
Use the Internet to define the words below:;
1. Garbage:
2. Luxury:
3. FEssential:
Now write a definition for each in your OWN words.
1. Luxury:
2. Essential:
Step 4: Classify and Categorize
Take each of the items you listed in Step 1 and separate them into either luxury or essential.

_Luxury Necessity

Step 5: What can you tell?

All of these items are typical of what is found in people’s garbage. In 3-5 complete sentences, answer the
following question: '

What information can be learned by looking at people’s garbage?
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Grade 8 Reference Sheet

1 inch = 2.54 centimeters | 1 kilometer = (.62 miles 1 cup = 8 fluid ounces
1 meter = 39.37 inches 1 pound = 16 ounces -1 pint =2 cups
1 mile = 5280 feet 1 pound = 0.454 kilograms | 1 quart =2 pints
1 mile = 1760 yards 1 kilogram = 2.2 pounds 1 gallon = 4 quarts
1 mile = 1.609 kilometers (| 1 ton =2000 pounds 1 gallon = 3.785 liters
1 liter = 0.264 gallons
1 liter = 1000 cubic centimeters

Area (A) General Formulas
Triangle A= %bh Pythagorean Theorem a*+bh=c
Parallelogram A =bh
Circle A=nmr?

Circumference (C)

. C=nd
Circle
C=2nr
Volume (V)
General Prisms V = Bh
Cylinder V =nr'h
Sphere _4 nr
3
1,
Cone V= 5 wrh

UL § TR
QAI18982

Copyright © 2017 by Questar Assessment, Inc. Al Rights Reserved.



Name

Class

Date

Reteaching 10-1

S Mabh Padeet # U

Scatter Plots

009........‘..................'l.-C'...'....l'.'.......'..-...............".'.Q

You can make a scatterplot to show data.

500

1000

1000

1500

1500 | 2000 | 2000

18

14

12

11

10 8 6

Step 1 Use the horizontal axis to represent
elevation. The elevation ranges from 500 to

2,000. A reasonable scale is 0 to 2,000 where cach

grid line increases by 500.

Step 2 Use the vertical axis to represent the
temperature.The temperature ranges from 18°C
to 6°C. A reasonable scale is 0 to 20 where each

grid line increases by 2°C,

Step 3 Plot the data, For example, at an elevation
of 500 m, the temperature is 18°C. Plot (500, 18).

18 .

16

Temperature
»

0 500 1000 1500 2000 2500

Elevation
1. What information is shown on the horizontal axis
of the scatter plot? 2z (5,22) !
20
{, .
2. What information is shown on the vertical axis ,én 18 (#,18)-¢
of the scatter plot? E 16
-
m 14
’ =
3. What does the highlighted point represent? :é 12 *-(3,:12)
(2,10
E 10 ! e-(3,10)
4, How many hours did she have to babysit to S 8|(1;8)e *(2:-8)
earn $227 )
= 6 (2;6)
e ’
!
2
0 1 2 3 4 5

Number of Dollars Tracey Earned Babysitting

Course 3 Lesson 10-1

Reteaching

All rights reserved.

© Pearson Education, Inc., pubiishing as Pearson Prentice Hall.



Name

Class

Date

Reteaching 10-2

Analyzing Scatter Plots

I N R R R R R X I N N R Y N NN X R NN R R RN RN RN R RN RNE R RRNRRRRE R AN R R RN RN R R AR AR A N A A NS

Example Make a scatter plot for the data below,

(D Choose a scale along each axis to
represent the two sets of data.

(@ Locate the ordered pairs on the graph
for the data.

___Age and Height Survey
{in) oy D
11 55 4 12

6 45 5 41 13

10 52 14 62 9
11 59 12 56 9
7 45 8 52 12
12 60 6 44 13
6 48 7 48 8
5 45 4 39 11

(3) Determine if there is an association that
describes the data. Is it positive, negative,
or is there no association? This data shows
a positive association.

@ Decide if the data is clustered together or if
there is an outlier. This data is mostly
clustered together, but there is one point
(9, 66) that is higher than the others, so it is
an outlier.

Age and Height Survey
! |
60 9
% T BN N |
£ 90 v '1
= s
5 40 ¥
et}
* 30
gty
34567 891011121314
Age in Years

Use the data below for Exercises 1-5.

47173 (98(45(31]95|71|76]41

~ Weight (Ib) [78]63[67]52|81]92]60]34]83
" Helght (i) | 56|52 |55 47|58 | 60[50|39 |58

45)54161|45|36|60 54|56|41

1. Draw the scatter plot.

2. Does the data appear to be linear? Explain.

3. Do you identify outliers in the data? Explain,

4. Does the data show a positive, negative, or no
correlation? '

5. What does the graph indicate about the data?

X X R R R N RN N N NN NN RN RN N NN YRR NRNNE NN N R RN AR NE NN N NN N NN RN RS R

Course 3 Lesscn 10-2

Reteaching

All rights reserved.
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Class

Reteaching 10-3

Date

Modeling Data with Lines

R R RN P X AR SRR RNFFR R RN NN NN RREN RN RN N RS RN R NN SRR R AR R R RN AR R R E RN E A AR R AN AR A A

A trend line is a line you draw on a graph to approximate the sof .
relationship between data sets. =
&
* To find the trend line, first plot the data. § 40 //
» Then look for a trend. Draw a line that has a slope é 30 /’( oo
with the same trend, S o // °
4 /
» Make sure there are about as many points above the line g 2 4K
as below it. 5 10
*  You can use two points on the trend line {o calculate
its stope. Then you can use the slope and estimate the 0 s 10 15 20 2;
y-intercept to write an equation to describe the line. Laps Run
* You can use a trend line equation to estimate values and
make predictions,
8 121518 | 22 | 24 | 14
24 | 18 | 32 | 40 | 28 | 48 | 23
14 | 16 | 20 | 38 | 42 | 54 | 62
8 12 | 16 | 22 | 25 | 28 | 30

Find the slope of the trend line.

. Draw a trend line to represent the data.

Estimatc the y-intercept of the trend line.

Write an equation to describe the trend line.

Use the cquation to predict the seedling height on

day 45.

N NN N R R R PR N RN NN R RN RN NN NENARNNNRNNERENRENRERE R R R R RN N A AR AR SRR AR R R

Course 3 Lesson 10-3

Rete

aching

All rights reserved.
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Name Class Date

Reteaching 10-4 Two-Way Tables

...'..II.IOII'..'.'...I...I.............'.'....'."....'........‘...'....'.'...Q

A frequency table organizes and displays data for two different
categories.

Suppose 157 babies were born in a hospital one day. The table shows
how many were boys and girls and how much the babies weighed.
You can find a relative frequency by dividing the frequency by the
column or row total. About what percent of the babies who weighed
less than 8 pounds were boys?

frequency = 55 boys weighed less

T than 8 1b
Boys
- - total = 101 babies weighed less
Girls . 46 2 than 8 1b in all
Total 101 56

relative frequency = 55/101, or
about 54%, of the babies who
weighed less than 8 pounds were
boys

A group of 65 students was surveyed about whether they had ridden a
roller coastz or a Ferris wheel.

Ridden a Ferris wheel 18 8
Never ridden a Ferris wheel 24 15
Total 42 23

1. About what percent of the students surveyed have never ridden
a roller voaster or a Ferris wheel?

All rights reserved.

2. About what percent of the students surveyed have ridden both a
roller coaster and a Ferris wheel?

3. About what percent of the students surveyed have ridden either
a roller coaster or a Ferris wheel, but not both?

B A GBS N AT AR NSNS RRERS AN PRI PR SNSRI RERRPEERRRNERBIRERIRRARNERRESERDRRTY

Course 3 Leston 10-4 Reteaching

© Pearson Education, inc), publishing as Pearson Prentice Hall.



Name

Class

Date

Reteaching 10-1

You can make a scatterplot to show data.

X..bon

WV

Scatter Plots

( JIEREXEINRENRNRNRNEENRRERE R AR R NE AR A RN N AN RN ELSE S

500 1000 { 1000 | 1500 | 1500 | 2000 | 2000
18 14 12 11 10 8 6
Step 1 Use the horizontal axis to represent 1 8‘ :
elevation. The elevation ranges from 500 to
2,000. A reasonable scale is 0 to 2,000 where each 16
grid line increases by 500, o 14 .
Step 2 Use the vertical axis to represent the g 1
temperature. The temperature ranges from 18°C E .
to 6°C. A reasonable scale is O to 20 where each E 10 .
grid line increases by 2°C. o !
Step 3 Plot the data. For example, at an elevation
of 500 m, the temperature is 18°C. Plot (500, 18). 6 M

0 500 1000 1500 2000 2500

Elevation
1. What information is shown on the horizontal axis \
of the scatter plot? 2 (5,.22) *
number of hours spent babysitting 20
2. What information is shown on the vertical axis g e
of the scatter plot? é 16
)
number of dollars earned & 14
=
3. What does the highlighted point represent? ﬁ 12 e-(3,12)
Tracey earned $18 for babysitting for 4 hours. % 10 o ) *-(3;10)
. . o
4, How many hours did she have to babysit to % 8|8 e *(2:8)
earn $227? 3
=} 6 {" 51
5 P N LR
5 hours = e
4
2
0 1 2 3 4 5

Number of Dollars Tracey Earned Babysitting

[ EE R RN RN ERRRRRNNNNRNFRRNERNRNNR NN NN NN ENRNEREN NN NENENRENRNE NN N B NN N EENENE BENELEELRER L]

Course 3 Lesson 10-1

Reteaching

All rights reserved.
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Name

Reteaching 10-2

Class

Date

Example Make a scatter plot for the data below.

@ Choose a scale along each axis to
represent the two sets of data.

(2 Locate the ordered pairs on the graph

for the data.

Analyzing Scatter Plots

TN R X RN RE SRS RN RRERN NN RN R ER R R AN R R R A A R R R N RS AR N B AL

() Determine if there is an association that
describes the data. Is it positive, negative,
or is there no association? This data shows
a positive association.

@ Decide if the data is clustered together or if

there is an outlier. This data is mostly
clustered together, but there is one point
(9, 66) that is higher than the others, so it is
an outlier.
3 Age and Height Survey
: M
L
10 % 60 ‘ L 4
11 5 'EERE)]
£ 50 3
7 45 8 52 12 58 = -3
12 60 6 44 13 60 £ 40 T
6 48 7 48 8 50 T
51 45 | 4 | 39 [ 1L | 56 A
345678 91011121314
Age in Years
Use the data below for Exercises 1-5.
6316752819260 |34 (8347 (73(98|45(31|9571]76|41
5215547 (586050 (39|58[45|54|61|45|36]|60|54]56|41
1. Draw the scatter plot. Weight and Height Survey
2. Does the data appear to be linear? Explain.
Yes, a line can be drawn near most of the data. ) 70
£=
3. Do youidentify outliers in the data? Explain. £ 60 oot —
£ =5-|
No, all of the data points are clustered. Exp L
Lo »
4. Does the data show a positive, negative, or no T 40 _._.'
correlation? L »
positive 305
5. What does the graph indicate about the data? 30 40 50 60 70 80 90 100110

Samule answer: As height increases, weight

increases.

Weight in Pounds

ARy xR Y RN RN RN RN RN NN NN A NRER RN DR R R R AR A A S AR AR A

Course 3 Lesson 10-2

Reteaching
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Name __ Class

Reteaching 10-3

Date

Modeling Data with Lines

.....l'....l.llI..'.'l.'...-.'.".".'.............."'l'.'l.......'.’!.-D.......

A trend line is a line you draw on a graph to approximate the soh =
relationship between data sets. = ,
@5
» To find the trend line, first plot the data. ::.5 40 //
e Then look for a trend. Draw a line that has a slope ;3 30 //{ o
with the same trend. S - // .
- /
* Mauke sure there are about as many points above the line g 20 /e
as below it. 5 10
* You can use two points on the trend line to calculate
inteeept 0 it an equation o desrive the lne, 0 5 10 18 W %
‘ p 4 ’ Laps Run
* You can use a trend line equation to estimate values and
make predictions.
‘Number of Laps " 5 8 | 12| 15|18 |22 | 24 | 14
Amount Collected ($ 10 | 24 | 18 | 32 | 40 | 28 | 48 | 23
Plot the data and label the graph.
Seeding Height cm) | 9 | 14 | 16 | 20 | 38 | 42 [ 54 | 62
Day s | 8 |12 16| 22| 25| 28| 30
1. Draw a trend line to represent the data. 1
2. Find the slope of the trend line.
3. Estimate the y-intercept of the trend line.
4, Write an equation to describe the trend line.
5. Use the equation to predict the seedling height on

cay 45.

Check that students' answers represent the data. Keep in mind that

enuations may differ siightly,

TRy xR R YRR R R R ERE R R NN N R R RN AR R A AN R A AR R R RN AR R RE A

Course 3 Lesson 10-3

Reteaching

Ali rights reserved,
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Name Class Date

Retraching 10-4 Two-Way Tables

'.O.lﬂI"."llC..........'.'.'.I....l.ll'..I.........-.l'.'."....'.....'l"...'

A frequency table organizes and displays data for two different
calegories.

Suppose 157 babies were born in a hospital one day. The table shows
how many were boys and girls and how much the babies weighed.
You cun find a relative frequency by dividing the frequency by the
column or row total. About what percent of the babies who weighed
less thoa & pounds were boys?

frequency = 55 boys weighed less
than 8 [b

Boys -
. total = 101 babies weighed less
Girls 4 A than 8 Ib in all

Total 101 56

relative frequency = 55/101, or
about 54%, of the babies who
weighed less than 8 pounds were
boys

A grouv of 65 students was surveyed about whether they had ridden a
railer covster or a Ferris wheel,

Ridden u Ferris wheel

Never ridden a Ferris wheel 24 135
Total 42 23

1. About what percent of the students surveyed have never ridden
a ruiier coaster or a Ferris wheel?

15/65 ~ 23%

2. About what percent of the students surveyed have ridden both a
roller coaster and a Ferris wheel?

18/65 ~ 28%

3. About what percent of the students surveyed have ridden either
a roller coaster or a Ferris wheel, but not both?

32/65 ~ 49%

BN AR IR T AR NN EREO SO NENET YN PNESAREIENIRIPIARRROSIRENSEERRPESERRERRERROSASDERERSS

Course 3 ' esson 10-4 Reteaching
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